Orden de Operaciones (H)

Realice las operaciones en el orden correcto.

61,71 463,66 — 32,16 — (84,88 —71,94)

[

N

. 93,38 — (70,84 — 30,68 + 45,83 — 8,99)

W

- 51,91475,43+30,71 — 12,4 4+97,57

4. 76,93 444,69 +44,74 x 41,54+ 95,69

9,

. 54,54475,67—9,03 — (95,66 — 85,29)
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Orden de Operaciones (H) Answers

Realice las operaciones en el orden correcto.

61,71 +63,66—32,16 — (84,88 —71,94)

= 80,27

. 93,38 — (70,84 — 30,68 + 45,83 — 8,99)

— 16,38

. 51,91+475,43+30,71 — 12,4 497,57

— 243,22

. 76,93 +44,694-44,74 x 41,5+ 95,69

=2.074,02

. 54,54 +75,67—9,03 — (95,66 — 85,29)

— 110,81
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